normalized X2

10
1072

107

10

107

o103
=1
©
o4

o

0.

0

[ normalized x? probability |

0.6F

0.5]

0.4

0.3

0.2

Prob(x2)

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

o +Bfff i \
. e
SN )11 L e
EEEEEEEN LN TENR R
g A R
3 4 6 8 10 12 14 16 18 20 09%70.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
XZ
s ../DQM_TT__original_PU
e DQM_TT__pL_eta3_1PU
s DQM_TT__pL_eta3_2PU
e DQM_TT__pL_eta3_2PU
2 3
n
A E
......................... 2 18-
___________________________ < 1.6F-
v E
____________________________ 1.4~
1.2F
1E-
0.8F-
"""""" 0.6
""""" 0.4F
K 0.2F
k o O
g
14

10?

1 -1
AR(track, jet?



	Contents
	Page 1


